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K.C.P.E  TRIAL  1  2012

STANDARD EIGHT

ENGLISH





SECTION A: LANGUAGE


TIME: 1hour   40mins

READ THESE INSTRUCTIONS CAREFULLY

1.	You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions

2.	Do any necesary rough  work in this booklet

3.	When you have chosen your answer, mark it on the ANSWER SHEET, not in this question booklet.

HOW TO  USE  THE ANSWER  SHEET
4.  Use an ordinary pencil.

5.   Make sure that you have written on the answer sheet:
YOUR  INDEX  NUMBER
YOUR  NAME
NAME  OF YOUR  SCHOOL

6.  By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e School Code Number
and the three-figure Candidate’s Number) in the grid near the top of the answer sheet.

7.   Do not make any marks outside the boxes.

8.   Keep the sheet as clean as possible and do not fold it.

9.   For each of the questions 1-50 four answers are given. The answers are lettered A, B, C, D. In each case only
ONE of the four answers is correct. Choose the correct answer.

10.   On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which the letter
you have chosen is written.

Example
In the question booklet

36.   Choose the BEST alternative that means the same as the underined word.
Snake bites can be fatal.
A. serious	B. deadly	C. terrible	D. bad

The  correct  answer  is:-  B

On  the  answer  sheet:

6 [A] [B] [C] [D]	16 [A] [B] [C] [D]	26 [A] [B] [C] [D]	36 [A] [B] [C] [D]	46 [A] [B] [C] [D]

In the set of boxes numbered 36, the box with the letter B printed in it is marked.

11. Your dark line MUST be within the box.

12. For each question ONLY ONE box is to be marked in each set of four boxes.


This  question  Paper  consists  of	six  printed  pages
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Below is a passage. Read it carefully and fill in the blanks with the BEST alternative given below.
Bee keeping is turning out to be __1__ among the Kenyan farmers. The honey __2__ by the bees has become a
household __3__ in most families. This is due to its__4__ value which is natural.
Bees are tiny __5__ that are reared __6__ a hive. Formely, bees were __7__ and used hollow tree trunks or caves
to make their __8__ where they eventually __9__ honey. It was the hunters and gatherers who__10__ the sweet liquid .
And as a result of__11__ trade, more and more communities came to__12__ the commodity among their diets.
Today, modern bee hives have been__13__ to enhance not only the__14__ of the commodity __15__ also the
safety of the bees.


1.A. good	B. famous	C. special	D. popular
2.A. created	B. prossessed	C. made	D. prepared
3.A. choice	B. food	C. dish	D. alternative
4.A. pure	B. nutritive	C. perfect	D. nature
5.A. parasite	B. invertebrates	C. insects	D. flies
6.A. in	B. on	C. at	D. to
7.A. tame	B. wild	C. common	D. many
8.A. honey	B. honey combs	C. placed	D. stored
9.A. put	B. stock	C. placed	D. store
10.A. discovered	B. developed	C. tasted	D. drank
11.A. foreign	B. local	C. domestic	D. barter
12.A. accept	B. include	C. consider	D. regard
13.A. formed	B. created	C. designed	D. shaped
14.A. productivity	B. amount	C. value	D. sweetness
15.A. and	B. but	C. then	D. thus



For questions 16 and 17, choose the alternative
that best fits in the blank spaces.
16.	The patient ____ very cold.
A. looks
B. seems
C. senses



alternative that completes the sentences.a
18.       My mother bought a______ jembe.
A. nice wooden small
B. nice small wooden
C. small nice wooden
D. small wooden nice

D. feels
19.	After much persuation to quit the habit,

17.	Kibet has ____ taken his lunch.
A. yet
B. only
C. just
D. now

For question 18 and 19 choose the best
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she finally________
A. gave up
B. gave in
C. gave out
D. gave off
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For question 19 and ,choose the alternative
that means  the same as the underlined
words.
20.	It will certainly rain today.
A. surely
B. likely
C. probably
D. luckily

21.	The food is quite delicious.
A. sweet
B. good
C. tasty
D. juicy
For questions 22 and 23, choose the word
that least fits in the group
22.	A. Often	B. Eaten
C. Written	D. Beaten

23.	A. Actor	B.Auditor
C. Competitor	D. Adjudicator

For questions 24 and 25,choose the arrangement
that forms a sensible paragraph.
24        (i) He often catches the first bus
(ii) Tom is usually an early riser
(iii) All this he does for his family’s sake
(iv) As such  he, prepares for work in good
time
A. (iii) (ii) (iv) (i)
B. (iii) (iv) (ii) (i)
C. (ii) (iv) (i) (iii)
D. (ii) (i) (iv)(iii)

25.       (i) The weather is usually dry and sunny.
(ii) Farmers get an opportunity to prepare
land.
(iii) It hardly rains in the month of January
(iv) Winds blow in different directions
A. (iii) (iv) (ii) (i)
B. (iii) (ii) (i) (iv)
C. (iii) (ii) (iv) (i)
D. (iii) (i) (iv) (ii)


Read the passage below and answer questions 26 - 38
The April holiday had just begun. The pupils,both small and big had reason to celebrate.The term had been long
and tidious . It was time to play for as it is said, “all work and no play makes Jack a dull boy’’
Boi and his friends had a lot of fun. They played the common games and even invented other new ones.It was
exiciting watching them wrestle, run after each other ‘cook,’fetch water, firewood and climb trees. But the one that they
cherished most was hide and seek. One child would be covered with a sheet and wait for a few minutes before the rest
of the group could take cover. The one covered would then ask whether they were ready before he or she could do the
rounds of discovering their hiding places.The first to be discovered was to take the lead role of seeking the rest after the
game was over.
Babu as they called him had yet to be discovered. He was the champion, a position he had vowed to maintain
at whatever cost. This meant that he had to keep discovering new hiding places that were as discreet as possible . It
was the tenth round and as Kate waited for their concent to do the search, Babu ran past their main house and came to
Mr Kioko’s workshop. He had been used to him so much so that he did not need to ask for permission to enter the
workshop and neither did Kioko need to bother keeping an eye on him. He went past the few pieces of furniture
displayed and came to a corner where a huge wardrobe stood.This is where Mr. Kioko kept his simple tools.

Babu opened the wardrobe and made himself comfortable in one of the compartments before closing the door
before him. Kate did her rounds and had almost blown her own trumpet of having discovered everybody when to her
dismay, she noted that Babu was still missing . After a long and tiring search, the children gave up and without giving it
much thought,they retreated to their homes
Babu’s sister Marion, left a rather disturbed girl. She was ten years then and only two years older than Babu.
She had three siblings but the rest had gone with her mother to the market place. Being seniors,they had been left behind
to tend the house in case a visitor came calling. She went into the kitchen and ate her lunch leaving some for her brother.
She was optimistic that he would appear sooner than later.
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At three thirty,their mother arrived but Babu was obviously missing. She inquired of his where abouts but would
not be satisfied by the answers given. She quickly went from house to house seeking for him. It almost turned out that she
was part of the game only this time she was rather apprehensive. By six thirty,the entire neighbourhood was in panic. Mr.
Kioko had also been taken aback by the disappearance but confirmed having seen the boy around the workshop but they
could least imagine the boy in the wardrobe.
As the search went on, Mr. Kioko decided to shut down his business for another day and help with the search. He
brought his wares that were displayed outside in the workshop and had almost left when he remembered his chiesel, tape
measure and a few other tools that were on a bench where he had been working before he was interrupted by the search
team. He preferred keeping them out of customers’ reach after having lost a number of them in unexplained circumstances.
He picked them and as he opened the wadrobe to keep them, guess what meets his eyes - Babu fast
asleep! He was lucky to be alive since he could have suffocated in there were it not for the fact that Mr Kioko had earlier
found the lock to the wardrobe loose. He had removed it so as to fix it later but had not come round to doing so yet. The
hole to the lock therefore gaped allowing air into the wardrobe. His procrastination was a blessing for it probably saved
Babu. The experience was both scaring as much as it gave a relief to the entire neighbourhood.



26.	Why did the pupils celebrate over the school
holiday?
A. It had been a long term.
B they had been very tired.
C It had a time free from any work.
D. They had an opportunity to play.

27.	What shows that Boi and his friends were
creative?
A. They had a lot of fun.
B. They also climbed trees.
C. They invented new games.
D. They wrestled and ran about.

28.	But the one that they cherished most....as
used in the passage implies the game they
A. wanted to play
B. commonly played
C. found interesting



30.       The word champion as used in the passage
can best be replaced with the word
A. winner
B. first
C. hero
D. conquer

31        What shows that the carpenter was used to
Babu?
A. They were very close neighbours.
B. He did not ask him any question
C. He did not concern himself with him
D. Babu did not ask permission from him

32        Why did Babu enter the workshop?
A. To enter the wardrobe.
B. To run away from his playmates
C. To make himself comfortable.
D. To seek a hiding place

D. preferred very much
33.	The expression “to blow her own trumpet” as

29.	Which was the most exciting	part in the
game of hide and seek?
A. Remaining undiscovered.
B. Being covered with a sheet
C. Doing the rounds searching
D. Hiding in a wardrobe
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used in the passage may also mean
A. boast of her achievement
B. shout of her achivement
C. expressing her joy
D. appreciating her success
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34.	Which of the following statement is NOT
true according to the passage?
A. There were six children praying
B. Babu had three siblings
C. The children were good at cooking
D. Babu did not seek the others

35.	Why was everybody in panic? This was
because
A. Babu had been hiding for long
B. They did not understand the game
C. Their search had been unsuccessful
D. Babu’s sister, Marion left rather disturbed.

36.	What prevented Babu from suffocating?
A. He was just a small boy







C. The lock was loose
D. He was fast alseep

37.       The discovery of Babu can best be said to
have been
A. shocking
B. scaring
C. terrifying
D. relieving

38        .What lesson do we learn from this passage?
A. Too much of anything is dangerous
B. All work and no play makes jack a dull
boy
C. Abird in hand is worth two in the bush
D. It is better half a loaf than none

B.Air was in circulation

Read the passage below and answer questions 39 -   50
All communities in Kenya have a way of initiating their youths to adulthood. This may take different forms depend-
ing on tribe and culture. The norms and customs bring about a culture that is passed on from generation to generation. It is
surprising though that should you ask why certain practices are done or performed nowdays, the answears are either
guessed or not satisfactory.
One such custom is circumcision which is common among the the Bantu speakers. This does not mean that the
other sub-groups do not practise it. In fact the Kalenjin have more elaborate circumcision rites compared to either the
Agikuyu or the Malagori. Initiation was a vital role in the transition from childhood to adulthood. It was viewed as a licence
to accessing important roles and functions in a family . For instance, one was only allowed to marry after
initiation. An uncircumcised person for that matter was not allowed to marry. It was also a means to accessing property.
Once intiated, a person had all the rites to own land,cattle or any form of material wealth the community had in its
possession.
The initiation ceremony was well planned and executed.As soon as the ritual was performed, the initiates were put
in seclusion. This allowed time for them to receive proper treatment in terms of food and in some case health. It was at such
times when the aldults inculcated moral values to the initiate. The initiates were taught the history of their clan, their role in
family and society and also how to be united.
The role of seclusion was to mould the initiate towards behaviour change. There was and to some extend there still
is a diffrence between an intiated person and one who has not under gone the rite. This is because it was at this time that
individual roles in society were clearly defined.You could hardly find an intiated man for example fetching water,cooking
or looking after the babies .This was not considered as one of their roles but that of the women folk. Instead, in most
communities, the male initiates took the role of defending the clan and carrying out other duties that were dimmed fit for
them.
It is from these initiates that fathers came to be and it is from the fathers that village elders emanated from. The
village elders acted more or less like judges. They also acted as planners and educators of society. As their age advanced,
a new set of the governing council was elected from those who showed desirable character. Hence the existance of society.
Though not all cultural practices are good, the acceptable ones should be embraced and given the respect it
deserves.
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39.	From the first sentence ,we can conclude that
A. boys are the only youths initiated.
B. youth are initiated in the same way
C. most people are aware of their customs
D. initiation is a valid custom in Kenya

40.	The passing on of cultural values from
generation to generation are done
A. normally
B. practically
C. generally
D. informally

41.	The statement- “the Kalenjin have a
more elaborate circumscision rites
compared to either the Agikuyu or the
Malagori.” as used in the passage implies that
the
A. Agikuyu and Maragoli have less colourful
circumcision rites compared to the Kalenjin
B. Kalenjin andAgikuyu have similar
circumcision rites
C. Malagori have a better circumcision rite
than the Agikuyu
D. Kalenjin take circumcision rites more
seriously than the Agikuyu and Malagori.

42.	Below are reasons why it is important for a
youth to be initiated expect
A. get a spouse
B. acquire property
C. be wealthy
D. assume new roles

43.	What was the main reason for initiates to be
secluded? To be
A. given food
B. taught moral values
C. taught historical lessons
D. given roles to perform

44.	Why was it hard to find an initiated man





45.       Which of the following statement is TRUE
according to the passage?
A. There were define roles for those initiated
B. All adult male were circumcised
C. Only Bantu men were circumcised
D. Circumcision was done to both male and
females

46.       Which word can BEST replace the word
inculcate as used in the passage?
A. Improve
B. Instruct
C. Input
D. Instil

47.       What brings about the difference between an
initiated person and one who is not?
A. The age difference
B. Being in seclusion
C. Customs
D. Character

48.       Which of the following was NOT a role played
by the village elders according to the passage?
A. Promoting conflict
B. Educated the society
C. Resolved misunderstanding
D.Advocating for unity

49.       What is the writer’s feeling about cultural
practices?
A. They are not good
B. They are to be totally embraced
C. They should be respected wholy
D. They should be evaluated first

50.       Which of the following could be the BEST
title for the passage?
A. The role of initiates
B. Customs in Kenya
C. Cultural pracices
D. The initiation rites

fetching water according to the passage?
A. It was against their teaching
B. It was a role for small girls
C. It was regarded as inferior
D. It was their role to defend the clan
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